Teaching

Year 2 Maths Lesson

notes for adults:

The learning objective for today is:

e To be able to subtract 2-digit humbers by counting back.

What you

will need:

e 100 grid (provided)

e Wo

rk sheets (provided)
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Please work through these slides with your child to ensure they understand the method before
they start the work sheets.

Let’s solve
84 - 22.

T
the

1 ] 1 2 3 4 5 6 7 8 9 10
Spider 1s on 84
11 (12 (13 | 14 | 15 (16 | 17 | 18 | 19 | 20
Countback 10 21|22 | 23|24 |25 | 26|27 | 28| 29 | 30
and 10 again.
Where will 31 (32|33[34|35(36|37|38|39]40
spider go to?
41 (42 | 43 | 44 (45 | 46 | 47 | 48 | 49 | 50
hat’s right, Spider moves up
column two squares because 51 (52|53 ' 55 | 56 | 57 | 58 | 59 | 60
he is subtracting two 10s. L
6l | 62 | 63 65 |66 | 67 | 68 | 69 | 70
ow swap to :
fly. 71 | 72 | 73 75 | 76 | 77 | 78 | 79 | 80
L
@ 81 | 82 | 83 85 |86 | 87 | 88 | 89 | 90
Q_'L\ 92 |93 |94 |95 |96 |97 | 98 | 99 | 100

That's right, Fly moves back along
row two squares because he is
subtracting 2 ones.

the)

84 - 22 =62



Let’s solve
57 — 25.
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) ; 1 2 3 4 5 6 7 8 9 10
Spider is on 57.
11 (12 (13 |14 |15 |16 | 17 | 18 | 19 | 20
Cpunt back 10 21 |22 |23 |24 | 25 | 26 28 | 29 | 30
and 10 again. N\ ;
Where will spider /31 | 32 +-33434*T 35%"36*37 | 38 | 39 | 40
go to? 1'
41 | 42 | 43 | 44 | 45 | 46 48 | 49 | 50
That's right, Spider moves up the v
column two squares because he is ¥1 52 | 53 [ 54 | 55 | 56 58 | 59 | 60
i . /4
subtractingtwo 105 161 | 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70
ow swap to
fly. 71 (72 |73 |74 |75 |76 |77 | 78 | 79 | 80
Count Back s 81 1 82 |83 | 8 |8 (8 (87 |88 | 8 | 90
q_]._\ 92 |93 |94 (95 | 96 | 97 | 98 | 99 | 100
That’s right, Fly moves back along the ™
row five squares because he is
subtracting 5 ones.
Let’s solve
96 — 34.
| - 1 2 3 4 5 6 7 8 9 10
Spider is on 96.
11 |12 |13 |14 |15 | 16 | 17 | 18 | 19 | 20
Count back 10
and 10 and 10 \21 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
again. Where will )31 | 35 [ 33 [ 34 | 35| 36|37 | 38 | 39 | 40
spider go to?
41 (42 | 43 |44 |45 | 46 | 47 | 48 | 49 | 50
That’s right, Spider moves up the
column three squares because he is ¥1 52 | 53 | 54 | 55 % 57 | 58 | 59 | 60
subtracting three 10s. 4-"'/61 62 4-63 <64 <65 - 67 | 68 | 69 | 70
ow swap to ?
fly. 71 (72 | 73 | 74 | 75 7F 77 | 78 | 79 | 80
@ 81 |82 |83]|84|85 87 | 88 | 89 | 90
i
q.]\ 92 | 93 | 94 | 95 f 97 | 98 | 99 | 100
That’s right, Fly moves back along the ™

row four squares because he is
subtracting 4 ones.

D,

96 - 34 = 62
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Name

L.O. To be able to subtract 2-digit numbers by counting back.

Subtract 23 from these numbers and record your number sentences.

I have done the first one for you.

1 2 3 4 5 6 7 8 S 10
11 | 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30

@1 32 | 33 (34 | 35| 36 | 37| 38 | 39 | 40
41 | 42 | 43 | 44 | 45 | 46 | 47 @S 49 | 50
51 | 52 | 53 | 54 | 55 | 56 @? 58 | 59 | 60

61 | 62 ; 64 | 65 | 66 | 67 | 68 | 69 | 70
71 | 72 | 73 | 74 @ 76 | 77 | 78 | 79 | 80
81 | 82 | 83 | 84 | 85 m 87 | 88 | 89 | 90
9 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 lﬂﬂm

3|1 |-]2]3 =8
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Name

L.O. To be able to subtract 2-digit numbers by counting back.
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Subtract 34 from as many of these numbers as you can and record your number sentences.

I have done the first one for you.

1 2 3 4 5 6 7 8 S 10
11 12 13 14 15 16 17 18 19 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
31 | 32 | 33 | 34| 35 | 36| 37| 38 | 39 | 40
41 &ﬂ; 43 44 | 45 46 | 47 | 48 | 49 50
51 52 53 54 | 55 56 | 57 | 58 1\9 60
61 | 62 | 63 | 64 | 65 | 66 @ 68@ 70
m 72 73 74 @ 76 | 77 iﬁ 79 a0
81 | 82 | 8 p 84 | 85 | 86 | 8 | 88 | 89 | 90
91 | 92 | 93 | 94 | 9 96 | 97 | 98 | 99 1@
4 2| -3 4 =8




